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R OEA 39 37 76 0.0 76.0 | 51 hll RE 48 40 88 0.0 88.0
Bl 558 39 38 77 0.0 770 | 52 el #EE 47 41 88 0.0 88.0
] 3 39 38 77 0.0 770 | 53 AE HE 45 43 88 0.0 88.0
[Zih 24 42 36 78 0.0 78.0 54 EA JHH 45 43 88 0.0 88.0
fAM IEBR 42 37 79 0.0 790 | 55 RKAGREX 44 44 88 0.0 88.0
B ERXR 40 40 80 0.0 80.0 56 = # 43 45 88 0.0 88.0
EI B 39 41 80 0.0 80.0 57 aRk & 41 47 88 0.0 88.0
FLE AW 43 38 81 0.0 81.0 58 B RE 50 39 89 00 89.0
BH #® 40 41 81 0.0 81.0 59 RE #= 48 41 89 00 89.0
KR IEF 42 40 82 0.0 82.0 60 BR = 47 42 89 00 89.0
(1) R 39 43 82 0.0 820 | 61 FEE L 46 43 89 0.0 89.0
h#g EZE 39 43 82 0.0 820 | 62 *XHB RE 46 43 89 0.0 89.0
=iE BX 45 38 83 0.0 830 | 63 xR ERE 45 44 89 0.0 89.0
=R & 43 40 83 0.0 830 | 64 ER BEX 45 44 89 0.0 89.0
#HE = 43 40 83 0.0 83.0 65 HFT hE 45 44 89 00 89.0
EED ELE 43 40 83 0.0 830 | 66 587 BiE 45 44 89 0.0 89.0
£H# B 40 43 83 0.0 830 | 67 BE — 42 47 89 0.0 89.0
N OIERL 40 43 83 0.0 830 | 68 kB L1E 41 48 89 0.0 89.0
hig EiE 46 38 84 0.0 840 | 69 A FE 48 42 90 0.0 90.0
a2 44 40 84 0.0 840 | 70 A FHEI 48 42 90 0.0 90.0
o it 43 41 84 0.0 840 | 71 AIE BB— 46 44 90 0.0 90.0
HE REiE 42 42 84 0.0 840 | 72 He EF 45 45 90 0.0 90.0
A¥ EF 42 42 84 0.0 84.0 73 W EE 45 45 90 0.0 90.0
BEH B 41 43 84 0.0 84.0 74 WHE BX 49 42 91 0.0 91.0
@l £z 41 43 84 0.0 840 | 75 Bf B 47 44 91 0.0 91.0
NE M 40 44 84 0.0 840 | 76 e H— 46 45 91 0.0 91.0
R RE 40 44 84 0.0 84.0 77 MA Mt 45 46 91 0.0 91.0
hEE HEE 46 39 85 0.0 850 | 78 Fa 57 45 46 91 0.0 91.0
KAg EX 45 40 85 0.0 85.0 79 wEEOA 43 48 91 0.0 91.0
LFE EX 45 40 85 0.0 85.0 80 HE g 49 43 92 0.0 92.0
HE EX 44 41 85 0.0 850 | 81 KEF EA 48 44 92 0.0 92.0
AR BE 43 42 85 0.0 850 | 82 hi pE=E 47 45 92 0.0 92.0
AXK B 42 43 85 0.0 85.0 83 SH EFE 46 46 92 0.0 92.0
ZH EER 46 40 86 0.0 86.0 84 EIL EX 45 47 92 0.0 92.0
5 BRX 46 40 86 0.0 86.0 85 st i 45 47 92 0.0 92.0
BHF RHA 45 41 86 0.0 86.0 | 86 A% IERE 49 44 93 0.0 93.0
20 B 45 41 86 0.0 86.0 87 WA & 48 45 93 0.0 93.0
MmE =i 44 42 86 0.0 86.0 88 B¥ sh% 47 46 93 0.0 93.0
N BIA 39 47 86 0.0 86.0 | 89 R B 46 47 93 0.0 93.0
FE NE 38 48 86 0.0 86.0 90 FKRK RIA 46 47 93 0.0 93.0
Ak Rif 46 41 87 0.0 87.0 91 18 & 44 49 93 0.0 93.0
HE HEHE 46 41 87 0.0 87.0 | 92 ==l N - 51 43 94 0.0 94.0
BX BRX 46 41 87 0.0 87.0 93 hAR EiF 51 43 94 0.0 94.0
=k FM 45 42 87 0.0 87.0 | 94 HW BX 50 44 94 0.0 94.0
e ZF@m 45 42 87 0.0 87.0 | 95 Bff EF 49 45 94 0.0 94.0
HF &EA 45 42 87 0.0 87.0 96 WE b&— 46 48 94 0.0 94.0
I8 K& 44 43 87 0.0 87.0 | 97 B E®X 46 48 94 0.0 94.0
ZH —i 44 43 87 0.0 87.0 98 B £E 43 51 94 0.0 94.0
A Eth 41 46 87 0.0 87.0 99 ® BE 54 41 95 0.0 95.0
bt £ 48 40 88 0.0 88.0 | 100 R g 52 43 95 0.0 95.0
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101 SRR 51 44 95 0.0 950 | 151 BH R 56 48 104 00 1040
102 RHE B 51 44 95 0.0 950 | 152 ENEKE 53 51 104 0.0 104.0

103 —=E B 51 44 95 0.0 95.0 | 153 wEH BB 53 51 104 00 1040
104 B A 50 45 95 0.0 950 | 154 BA B 52 52 104 0.0 104.0
105 kO BH 49 46 95 0.0 950 | 155 HE &— 58 48 106 0.0 106.0
106 $2FE Mith 48 47 95 0.0 95.0 | 156 Hig = 58 48 106 00  106.0
107 =l =5 55 41 96 0.0 96.0 | 157 meEjasE| 51 55 106 0.0 106.0
108 RE FA 52 44 96 0.0 96.0 | 158 WA FRX 53 54 107 00 1070
109 (TT==I - G 50 46 96 0.0 96.0 | 159 K B 53 55 108 0.0 108.0

110 RHF FA 48 48 96 0.0 960 | 160 ARERWM 55 54 109 00  109.0
111 Bk %A 46 50 96 0.0 96.0 | 161 wE #ER 55 55 110 00 1100
112 == S 45 51 96 0.0 96.0 | 162 Al %A 57 54 111 00 1110
113 kB Bz 52 45 97 0.0 970 | 163 Z#E Al 64 50 114 00 1140
114 t#% Em 52 45 97 0.0 970 | 164 Rk B 59 55 114 00 1140
115 m = 51 46 97 0.0 970 | 165 Bf B 54 60 114 00 1140
116 B K% 51 46 97 0.0 970 | 166 7EfE 5h&Fk 61 54 115 00 1150
17 BAEERE 50 47 97 0.0 97.0 | 167 X BE 57 58 115 00 1150
118 Rl #He 49 48 97 0.0 970 | 168 HZK BE 56 61 117 00 1170
119 HE RE 48 49 97 0.0 970 | 169 Il E=E 54 63 117 00 1170
120 HFHLE B 48 49 97 0.0 970 | 170 EH BXx 59 59 118 00 1180
121 WHE % @ 47 50 97 0.0 970 | 171 xH EH 56 64 120 00 1200
122 MBREEF 46 51 97 0.0 970 | 172 Ngg —m 7 52 123 00 1230
123 wH FB 53 45 98 0.0 980 |%#  EL A&
124 20O & 52 46 98 0.0 98.0
125 BEE KX 52 46 98 0.0 98.0
126 EO #5 51 47 98 0.0 98.0
127 MRIE—ER 50 48 98 0.0 98.0
128 [GFE Stk 50 48 98 0.0 98.0
129 hiE E 49 49 98 0.0 98.0
130 B =% 47 51 98 0.0 98.0
131 B {EfE 54 45 99 0.0 99.0
132 EHE E3E 52 47 99 0.0 99.0
133 SO EA 52 47 99 0.0 99.0
134 Ei BE 51 48 99 0.0 99.0
135 EE 1&— 51 48 99 0.0 99.0
136 ER =5 48 51 99 0.0 99.0
137 (ITEE: TN 53 47 100 00  100.0
138 BERK - 52 48 100 00  100.0
139 FE BA 51 49 100 00  100.0
140 BN T 50 50 100 00  100.0
141 K sF 49 51 100 0.0 100.0
142 HH BE 49 51 100 00  100.0
143 &ih EF&E 55 46 101 00 1010
144 BAR ER 52 49 101 00 1010
145 HE HE 50 51 101 00 1010
146 g A 47 54 101 00 1010
147 Ao —= 53 49 102 00 1020
148 K & 51 51 102 00 1020
149 =HE %% 51 52 103 00 1030
150 L 48 55 103 0.0 103.0
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